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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 1 ] ] ] I I
3500 —>— EcFzExp
30004 ¢ ECdef prossedesed
—>— water_ec
2500 ' ME
2000 o2
1500 X
1000
Warning: col| ['EcFgro’, 'EcPltng'] is missing

500

25

50

75 100 125 150 175




Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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P3

BflE) | GEBRMK @) | ERE(ERH/R | EREE (/R [ XS SRR
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08:45 333 150.0 5.932 FH| FiHA@08:45 KENFEF (FRAFERE)
09:35 333 150.0 5.932 FA| 7HR@09:35 KREIEHF (RALESR)
10:15 333 150.0 5.932 BH| FhHA@10:15 KEIF2F (RAHERSE)
10:50 333 150.0 5.932 BH| FhHA@10:50 KENF2F (KRAFERE)
11:25 333 150.0 5.932 FA| hHR@11:25 KRHMIEHF (RAKLESR)
12:00 333 150.0 5.932 FR| FHA@12:00 KRENFZF (KRFAEES)
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16:20 333 150.0 5.932 f|  FHAe16:20 KRENFZF (RFAEEES)
21t] 4995.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5
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P3_0, Day=57 (2025-06-01)
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P3

BTiE) | GEBIATK (F) | EME (EH/) | BEBRERE (/X)) | XK R
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14:35 333 150.0 5.932 [/\fi| {Rige14:35 B (RAEDSE)
23t 2331.0 (7% 1050. 0 3 HKEC: 2080.0, PH: 6.5
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P3_0, Day=56 (2025-05-31)

150 A
100 A

50

208 7

(
150 -
100 -

50 -

FRV (ml plant-1)

1¥d3 vtﬁ%igg, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1202 129800
08}

02 99
Warning: lcol [FVI',| "FVO’'] missing

maxM |

1.0

0.8 A

0.6

0.4+

0.2~

0.0

Warning: lcol ["WC1',  "WC2'] missing

3000 A

2500

2000

(]
TargetEC=2600.0, TargetSetEC=2080.0 —— ECBx10% [
[ J ECC

7.0

6.5

6.0 -

TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% {*
[ PHC

N
X
X
X
X
X

® X
[ ]

N

o

o
1

ET (ml/hr/plant)

] i
Bylnit @D57 02:05: ET=1564 Fg=2100.0 Ro=524.0 t

0 1 2 3 4 5 6 7 8 9 10 11 12

—_
w
—_
=N
—_
ol
—_
=2}
—_
~
—_
o0}
—_
©
N
o
N
—_
N
N
N
w
T

FH | BA [ BA | FA | BA [ BH | FPA | BA | BH | BA | BA [ FH | PA

H
H
H
H
=
H
K=
=
R
R

ET (ml/hr/plant)

A e ——— a \/r\/I\\I ——

ByEt @D56 19:02: ET=1239 Fg=1200.0 Ro=nan

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B | B [ BH [ BA [ BA [ BA | BA | BA | BA | BH | BH | B | BH | K[| BA [ B |/e|/ | E=| B | B |$=

ET (ml/hr/plant)

]
ByWoFyv @D57 02:05: ET=908 Fg=1050.0 Ro=176.0 s

B | B [ BH [ BA [ BA [ BA | BA | BA | BA | BH | BH | B | BH | K[| BA [ B |/e|/ | E=| B | B |$=

0.6

0.4+

0.2~

808 3

400 ~

200 -

—_— 4
o | _obs
—@— PPFD obs

25. 0 1
22.5
20.0 A
17.5

15.0

80 A

— RH ®
() RH_obs :

(] RHo_obs '

»‘ﬁ e v f

1500

1000

500

FRV — Mg P30

3000

2000

1000

[ =]
o
o
o

2000

1000

[ =]
o
o
o

2000

1000

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



21.

21.

21.

21,

21.

21.

20.

22.

22.

21.

21,

21.

21,

21.

25.

24.

24.

24.

24.

24.

24.

T T
400 600 800

m=545,m FV0=0

T
1000

1T —e— ME

© o -— N w - (&
1 1 1 1 1 1

T T
550 555

545
m=950,m FV0=0
17 —e— M_E
0 -
9 .
8 -
7 -
6 -
5 -
950 955 960
m=470,m FV0=0

1T —e— mw

E- ()] [=2) ~ [ee] © o
1 1 1 1 1 1

~ [e] © o - N
1 1 1 1 1

470 475 480

m=385, FV0=0

20.

20.

20.

20.

20.

20.

19.

M_E

T T
385 390 395

m=605,m FV0=0

21.

21.

21.

21.

21.

21.

21.

—0— ME

23.

660 860
m=545,n FV0=0

400 1000

25.0 A

24.

24.

24

24.

24

24.

-o— MW

545 550 555

21.

20.

20.

20.

20.

20.

20.

21.

21.

21.

21,

21.

21.

21.

24,

24.

23.

23.

23.

23.

23.

25.

25.

25.

24.

24,

24.

m=425, FV0=0

M_E

450 455
m=675,n FV0=0

6é0 6é5
m=385,n FV0=0

385

350 365
m=605,n FV0=0

1T —e— mw

605

610 615

21.

21.

21.

21.

21.

20.

20.

21.

21.

21.

21,

21.

21.

21.

24,

24.

24,

24.

25.

25.

25.

24.

24.

24,

24.

m=470, FV0=0

M_E

T T
470 475 480

m=815,m FV0=0

1 o

M_E

i

SéO Sé5
m=425,n FV0=0

4é0 4é5
m=675,n FV0=0

425

1T —e— mw

675 680 685




m=815, FV0=0

—— MW
25.2 -
25.0 -
24.8
24.6
T T T
815 820 825

m=950, FV0=0
—— MW
25.2
25.0 A
24.8 A
24.6
T T T
950 955 960




hour

140

:00

:55

140

:20

105

:50

:00

:15

S & B A K e
‘3{%»’&\%-‘4%%%8&%&%\‘*
U Ut N N S D HRVS SN U U A N
%%%QQ\&&_@Q&%‘_@&

100

80

- 60

- 40

§_



P3

BYiE) | GEBATK () | ERE(EH/4R) | EREE (/R [ XS R

06:35 333 150.0 5.932 BH| 1BRi%@06:35 Bzh (RAERE)
07:25 333 150.0 5.932 FA| 1BRi&@07:25 B3h (KRAIEREE)
08:40 333 150. 0 5.932 FH| 1RRi%@08:40 Bz (AR
10:00 333 150.0 5.932 FA| 1BRi%@10:00 B3 (KRAEREE)
10:55 333 150.0 5.932 FA| {Ri%@10:55 Bz (CGRAEESE)
11:40 333 150.0 5.932 FH| 1Ri%e11:40 Bz (REAERSE)
12:20 333 150.0 5.932 FA| 1BRi%@12:20 B3h (RAIERESE)
13:05 333 150.0 5.932 FA| {Ri%@13:05 Bzl (CGkAEESE)
13:50 333 150.0 5.932 FA| 1Bi&@13:50 B3 (KRAFEREE)
15:00 333 150.0 5.932 FA| 1E2i%@15:00 B3zh (RABERESE)
16:15 333 150.0 5.932 FA| {Ri%@16:15 Bz (GRAKEE)
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14:45 333 150.0 5.932 E BRige14:45 Bz GRAERESE)
15:30 333 150.0 5.932 5| {Ri%e15:30 B3 (RAERSE)
16:25 333 150.0 5.932 |Z=| 1Rige16:25 Bzl (GRAEEE)
23t 4329.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.5
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P3

BTiE) | EBATK (RY) | EHRE (EH/HK) | ERERE (B/R) | KR R

06:45 333 150.0 5.932 = RRiB006:45 B (RFAEEE)
07:30 333 150.0 5.932 = {RRi8007:30 Bah (REAEEE)
08:40 333 150.0 5.932 =l {Ri%e08:40 B (KRFAERSE)
09:30 333 150.0 5.932 Sl 1Ri%e09:30 B3 (RAERSE)
10:10 333 150.0 5.932 =l RiB0@10:10 Bah (REAEEE)
10:55 333 150.0 5.932 =l {Ri%010:55 B3 (REAERSE)
11:35 333 150.0 5.932 5 {Ri%e11:35 Bz (GRAERSE)
12:15 333 150.0 5.932 =l Rige12:15 Bz (REAEREE)
13:05 333 150.0 5.932 =l {Rige13:05 B3 (RFAEZSE)
13:40 333 150.0 5.932 F BRige13:40 Bz CGRAEREESE)
14:20 333 150.0 5.932 =l RiB014:20 B3 (REAEREE)
15:00 333 150.0 5.932 =l RiB@15:00 Bz (REAEEE)
15:45 333 150.0 5.932 =l {Rige15:45 B3 (REAERSE)
16:35 333 150.0 5.932 = RRiB016:35 B (REAEEE)
21t 4662.0 (14)%) 2100.0 323 KEC: 2080.0, PH: 6.5
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